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9. A small change in plaintext results in the very great change i" tG;ipheGxr
Option A: Avalanche ef'fect
Option B: Completeness
Option C: lncompleteness
Option D: Illusion

10. SSL fuii fonl is

Ontion A: Secure Sockets Layer
Option B: Socket Secure Layer
Option Cl: Security Socket Layer
Ootion D: Synchronous Socket Layer

Q2 Solve any Two Questions out of Tiiree 10 nrarks each

A
Using hill cipher perforrn following operation key is

2. Decrypt the encrypted text
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s;rpr. 
-.:---L Fiestel structire and its significance

2. Signrficaiice of extra swap between left and right half blocks
3. Exparrsion
4. Significance ot'S-box ..' ,

-5. Nc of rounds
C H*r'.to

Solve any Trvo Questions out of Three 10 nrarks ealh

GE@'fffiffizr and B u'ish to ur
public key as (5,321).

l. Calculate private keys of A ,,' , 
. 
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2, Calculate private keys of B. " .

3. A wish to send m€ssage m=1'0 to B. What willbe the cipher text?
4. With what key will A encqpt the message'lrn" if A needs to authenticate itself to B
5. Attacks mssible onRSA

Explain MD 5 aleorithm?- List uiiements of hash function.
Explain lPsec hrnnel mode and

Sulve anv Tryo Questions out of Three I0 marks each

what is Fireu'all? compare different types of Firewail in nenvork securi
in a Diffie-Helimau Key Exchange.

l. Al.ice 1! poU have chosen prime r,alue q = l7 and lrrinritr.,e root : 5. If Alice's secret key
B I is 4 and Botr?s secret key is 6, u'hat is the seeret kcy tr:ev exchanged?

2. Explain attack on Diffie-Hellman.
3, Horv to improrre security of Diffie - Hellman

E.rplain u,ith example
I. SQL injection
2. Buffer overflow
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